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A28 FE= 3,204,120 *4.5% 145
A28 BE=S 3,204, 1209 +3.335% 107
RALE BES 106,850& x10.25% 11
NEEE RE=3 3,204,120 1.65% 53
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201 2Bt Y| 10,319 10,031 288
01 AtR 22l | 4,670 4,382 288
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MNEFAER 1,620
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-AESE(YRE) 65,0002 x13] 65
NsIAHEE= 1,000
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SN RES 110, 0002 = 1CH 110
- Y sS4 4,102
-HEESs(AE8EE) 1,361& *2,500L*1CH 3,403
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A2E2E 2E=S 73,649,000 *3.335% 2,457
FNALE FE=  2,457,000& +10.25% 252
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MTHEE R2E3 73,649,000 1. 177% 867
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201 Lt 2| 17,760 16,755 1,005
01 At 22l bl 15,000 13,755 1,245
A2 150,000& 16X «95% 2,280
54 % QAR 29 300,000& =122 3,600
2 e=daAtl 8,000& 541 x14H x12& 6,720
SAIER=Z 200,000 x1CH =12 2,400
02 3324t 2,760 3,000 A 240
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SNS EE2X €5 =22 30,000& 122 360
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